KXIRIEE=SZ 1) /7‘#&*‘1 THxE/BA18 (B) ~FHxETA31H (K)

H176=g .
BV » T o i ARy vy,
'lt’ 3 HYI-F-I E =

No.1

RS

R RIL TEEH IR

-1/21(R)~  {EAIBASE

= -7/31(B) B HAI90m
______ . (468km873m)

~~~~~~~~~~~~~~ 7R N

............ o % el

\
v
\
OKR-F-5(2) 4
OKR-WL-6 %
7 O @ B-15 OKR-F-5 (1) '-“
g — ™ Lol
- = = \
/ / -~
s,/

.
—_—

......... B8 LR
(= |
:Pm\ ‘m (_\‘ @——FG0-HL-3 < A
) = | (o] | s
( wIGEE  gEwe (0] | o e
\} 7@ \( \
N X)) 1
< 2 NINSVG ) { 100m
- = // y
X N /
\ ’\\ C] RtIC TRBBEaEE (JV)
N
\ \
N\ \ D BREREA (DTS b
\r
\ \ DOl BATF—SEIRER. KEE 1 B/
\ A \ 7
\ o \ B AR ENY) :
/ N\ E GESN @R || 7 TAYTLRRENRR
( N\ O wEEn L AN EEH BN R
........... : \ X @ KiEA (FHY)
1 , AR\ @ k@A (AR
N J 5 X A \ [CoRms
G L A | » @x/ \ O B
---------------------- 1 w W Nol4 \\“\S"'/ \
!




KXIBBEE=S2) D J#HE

SHxEIA1H (B) ~FHMTETA3NH (K)

MERETERER . Hith RIE M fHiE
XEEEFTO AR

TR ERAIRER R (B2 HR)

R RIVETRITRDIRE

| —®ma -5
a7
- T
45 I
55
5 [ —mavke -8
53
52
51
50
86
~ -
€ LA
g =
A e I—ﬂmm{a(a-wzf
X I ——
T
{HE o0 {—iiimktz:a—w
LI —
67
66
RS
50
“ [—makee-n)]
48
47 — ._Jﬁ
46
a7
a5 {—ﬁ:‘!?kﬁiis—lﬁh
81
a1
» 1N
3 .
I8
E 15
10
¥, s
E (']
ﬁt::l' \1‘—] Y1t w1 1% 010 510 Bpi‘ '\0‘\?‘ ,\lo‘] "31.17‘ “5‘\3‘ '\‘@ﬂ '\59\:‘ '@93‘ » ol 'ﬂgﬂ @l ﬁp“ 1“\-1 "ﬂ@\-1 ® @l »
e ~E—N +
RESANGRER(BELLRH)
700
:: — i #(No3)
[ ]
E m f f
j 100 ) e — ] t———]
.
i T
Mluitl ‘:‘: 1 —ift B(No5)
R w
300
| T
s I [ALN
0 N e
25
20
15
’é 10
5
€ o
=

BEfEERE

3 41 43 & > 3 415 ] AP
@ @1t 1?1 B a1 17 g “1-,\ \1\ 10‘1x x"“ 1"‘9.\"\1\3"\“ \119“1 x"‘ 111?-\11596115‘11’\11‘111’)

BEE CEDERELTLAKREE

B-5 i RIKEL
B A AR KL
46.0m

B-8 i TRIK{L
B ERARKAL
52.35m

B-12" #FIKGL
B AR KL
83.3m

B-14 #hTFKAL
B ERIRKAL
65.8m

B-11 #hTFKEL
1B B AR K AL

-m

B-15 i FIKAL

el

No.5 FiE
RE

X ¥

ZHR)UTRERIZOVTHRET 5.

No.2

BB EHEL OPPEHHY OXEBHY CEERFHA~DHITE

®E)
RO TKGIETE

B 1mkEEU\LEh0: B-4,8-5,B-6,B-8,8-10,8-11,B-12,B-12¢,B-14,B-15

O2mzkil O5makiE OsmlE

HEPDOREERTE

W508/5 R4 LN No.3,No.4,No.5,No.7 508/ LA L
HARS P DpHZEENE (B-8,B-12)

Wo.5k#E Oo.sblk Ok

BHiEKE

O15mma&iE M1smmilE(1H) E50mmilLE(1H)
BI&EKE

O8ommki# C80mmLlE M130mmklE [O200mmil Lt

-#HFEFIEPO)HA‘WM_M&‘FEM B-15T0.57mT&H>7=,

BHE. ZEMELBEEREMEZ TESTLVEL,
- BEKE50mmEl EFERERLI-DIE. 7/27D81.5mmTH>T=.
- BEKZE(7/1~7/31) 1L, 184.0mmT&H 1=,



